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QUESTION 1

When either a message m or a message q is to be sent-but not both-what kind of operator for combined fragment would
be used? 

A. var 

B. break 

C. opt 

D. par 

E. alt 

Correct Answer: E 

 

QUESTION 2

What is true about a collaboration? 

A. identifies a protocol state machine 

B. describes the internal structure of a structured classifier 

C. describes one or more interactions working together 

D. describes how multiple classifiers achieve a task together 

Correct Answer: D 

 

QUESTION 3

What does a loop node consist of? 

A. parameters 

B. partitions 

C. bodyPart nodes 

D. clauses 

E. behaviors 

F. guards 

Correct Answer: C 
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QUESTION 4

Which list contains only connectable elements? 

A. behavior, connector end, and port 

B. behavior, port and property 

C. port and connector end 

D. connector end, port and part 

E. property, port, and parameter 

Correct Answer: E 

 

QUESTION 5

What does reaching the terminating pseudostate mean? 

A. The context object of the state machine is terminated. 

B. The enclosing region is completed. 

C. The final state has been reached. 

D. A completion transition has occurred. 

E. The "do" activity of the current state has completed. 

Correct Answer: A 
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